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Урок № 9
Тема:  Unit 5.[image: ]Электрическая цепь
1. Записать слова 1b)    в тетрадь
2. Письменно выполнить упр.2
3. Прочитать и понять содержимое текста. Перевод текста писать не нужно!
4. Выполнить упр.3.
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5. Домашнее задание! Выполнить упражнение. Решить задачи, письменно.
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5. Solve these problems:

1. How much is the current in the circuit if a 60-volt source is connected
to a resistance of 1,600 ohms?

2. How much is the voltage in a circuit having a current equal to 25 amp,
if a 25-ohm resistance is connected to it?

3." A 70.35-ohm resistance is connected to the circuit. How much is the
voltage if the current equals 4.5 amp?
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1. a) Cover the right column and read the English words. Translate
them into Russian and check your translation.

b) Cover the left column and translate the Russian words back into

English.
circuit ['sazkit]
conductor [kan'dakta)
function [fApk(n]
difference ['difrans]
open
short
trouble ['trabl]
no [rou]
to reduce [ridjuzs]
to supply [ss'plai)
to connect [ka'nekt]
to compare (with) [kem'pea}
to pass through  [pa:s Oru]
to result in

to result from

2. Translate into Russian:

Hemb, KOHTYp

NPOBOJHUK

Ha3Ha4YeHHne

pasHMLA

o6puiB

KOpPOTKOe 3aMbIKaHHe
MOBpeXieHUe

HHMKaKoH, HUCKONBKO
COKpalaTh

CHabxkaThb

CBA3LIBAThL

cpaBHuBaTh (C)

TIPOXOAMTH Yepe3
TIPUBOIMTD K, HMETb PE3yILTaTOM
CJIe[OBaTh, [IPOUCTEKATD H3

1. An open and a short are troubles in a circuit.
2. A trouble in a circuit results in no current in it.
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3. What does an open in a circuit result in?
4. What does a short in a circuit result in?
5. What does a trouble in a circuit result from?
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Fig.1

Electric Circuit

This is a circuit. Its elements are a voltage
source, a resistor and a conductor. The circuit
consists of a voltage source, a resistor and a
conductor. A voltage source supplies current. A
resistor reduces current. A conductor connects
the elements of the circuit.

Compare circuit a with circuit 5. What is the
difference between them? Current passes
through circuit @ while no current passes
through circuit b. Circuit 4 has an open. No cur-
rent through circuit b results from an open. An
open and a short are troubles in a circuit. A
trouble in a circuit may result in no current in it.
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3. Complete these sentences, using the correct variant:

1. Circuit a consists of

2. A voltage source

a)
b)

c)

a)
b)
c)

resistors and conductors.
a voltage source and resistors.
a voltage source, a resistor and a conductor.

conducts current.
reduces current.
supplies current.
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3. A conductor a) connects the elements.
b) supplies voltage.
c) conducts current.

4. A resistor a) connects the elements.
b) supplies current.

c) reduces current.

5. No current results from a) an open.
b) ashort.
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